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QUESTION 1

Which action does an S4-SGSN take when it receives a secondary PDP context request from the UE? 

A. A bearer resource command is sent to the SGW. 

B. A create bearer request is sent to the SGW. 

C. A create session request is sent to the SGW. 

D. A create PDP context request is sent to the SGW. 

Correct Answer: A 

 

 

QUESTION 2

An airport is providing free one-hour mobile Internet service for passengers. At the end of the free onehour service, the
PCRF sends a Diameter command to the mobile packet core to stop the free service. Which Diameter command is sent
by the PCRF? 

A. CCR-U 

B. RAR 

C. CCR-T 

D. STA 

E. RAA 

Correct Answer: B 

 

 

QUESTION 3

Which option is the page response for a PS paging request in 2G access? 

A. service request with type "data" 

B. service request with type "page response" 

C. any uplink LLC PDU from MS/BSC 

D. any uplink BSSGP PDU from MS/BSC 

E. service request with type "signaling" 

Correct Answer: C 
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QUESTION 4

Refer to the exhibit. 

The locally configured Diameter peer does not seem to be communicating with its remote peer. Which option describes
the problem? 

A. Ports are not correctly configured. 

B. No common AVP was found during capabilities exchange procedure. 

C. The transport layer connection is not established. 

D. Diameter does not support TCP as a transport protocol. 

Correct Answer: C 

 

 

QUESTION 5

Which option lists the contents of the flow label in a GTPv0 header? 

A. IMSI and NSAPI 

B. MSISDN and NSAPI 

C. IMEI and NSAPI 

D. IMSI and Transaction Identifier 

E. IMEI and Transaction Identifier 
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Correct Answer: A 
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